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a b
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0.47Tx2

0.3555Tx
0.3174Tx10 \ \

TRy LT

0.3076T/m

0.2069T/m

| .
Ma\\ /Mb‘\
Alﬁ B B

Ra Rb Rb Rc

Ma=-0. 2069x3. T1x3. T1/2-0. 28x(0. 538+2. 4+0. 55)-0. 28x
(2.440.55)-0. 28x(1. 8+0. 55)-0. 28x(1. 2+0. 55)-0. 28x
(0. 6+0. 55)-0. 28x0. 55

3

:_4. 8505 T_m .......................................... (1)
7. 60Ma+22. 933Mb+3. 4865Mc=-225. 2823 ++--++----- (2)
0.4317T
0. 3936Tx7
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0.3174Tx10 \ \ \ \ \ \
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0, B457T/m
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MaB ﬂl = ﬂl/ Mb cﬂl = ﬂl/\’ Mc
Ra Rb Rb Rc



3. 4860Mb+15. 603Mc+3. 955Md=-335. 0294 -+-++--+--+- (3
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A(X) = j ydx = 0.025x° + 2.2x
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9. 8oMat27. 513Mb+3. 9065Mc=-324. 385++++++---+- (2)

3. 9065Mb+13. 403Mc+2. T90Md=-221. 319---++-ve---- (3)

Md=(-0. 2069-0. 18)*3. 03"2/2-0. 0381/2*1. 788" 2-0. 0381/2%0. 6951
"2-0. 4698*(0. 55%3+0. 6+0. 555) 0. 4317*(0. 55*3+0. 6+0. 55%3+
0.55%2+0. 55)

=—5. 5024 T-meeevecereceeceoeeenecnnetiiiiiiieennn, (4)
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Mb=-8. 2137 T-m

Mc=-12. 9587 T-m

e Rpd WETE

Ra=-6.607T( 1)

Rb=-7.505TC 1)

Rc=-8.355T( 1)

Rd=-5. 543T( 1)
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A(X) = J. ydx = 0.03x° + 2.2X
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X+2.2=0.06x+2.2



JUx, =7.6m

0.03x* +2.2x=18.45x 2

X, =14.07or —87.41

TUx, =14.07m0.03x* + 2.2x =18.45x 3
X, =19.81or —93.14

FUx, =19.81m
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0.02023x* + 2.2x = 21.8725x 3
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AT H PN A T o
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5. 876Ma+23. 504Mb+5. 876Mc=-45. 9763--+-+--- (2)

5. 876Mb+23. 504Mc+5. 876Md=-45. 8653+++-++--- (3)

5. 876Mc+23. 504Md+5. 876Me=-45. 8653+++-++--- (4)
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Ely"=-1.05<x-0>+1.05< x-1.783> +1.05< x — 4.093 >

Ely’ =-0.525< x—0>? +0.525 < x—1.783>* +0.525 < x — 4.093 >* +C,
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y(0)=0=C, =0 y(5.876) = 0= C, = 3.8314

y'(X) = E—ll (-0.525 < x—0>2 +0.525 < X —1.783 >2 +0.525 < X — 4.093 >* +3.8314)

-3.8314
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Q. —_d—de _ 5.876 = g P 4
< BEl 6El El (FF£)
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3El 3El
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